Vi
{RFE D BT

KT DAL 2

H FE IR R

10

N
73

NO. 3 4 il

ROOXHTEEL2HZANEL X D,

20 =

40 0 =

40 =

0.6 0 =

@ Q@ © O 6 0 © o e
=%
Il

3.5 M =
50 m =
3000 cif
© 50000 cri
500 cii
@ 2000 m0
® 60000 m0
@ 5000000 cxf
40000000 cif
® 5000000 cii

RO 2 5528 UL
http://drill. para—gallery. com/

/15



(AN KT D HAL 2

v

B2

@ 2000 i
@ 40000 cif
© 4000 cnf
@ 600 i
® 5000000 ci
©® 3500000 i
@ 50000000 ci
3 0
© 50 0
0.5 0
@ 2 0
©@ 60 0
@ 5 et
40 et
® 5 m

R CfE X 558 KU L
http://drill. para—gallery. com/ 2



